17' % s v :i E ; Multiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuagdo:
3,147 x 1000 = 9,912 x 10000 =
10, 821 x 1000 = 3,331 x 1000000 =
1,514 x 100000 = 7,686 x 1000000 =
3,829 x 1000 = 1,789 x 10 =
4,842 x 1000000 = 1,417 x 100000 =
2, 1 x 100000 = 4,966 x 1000000 =
10, 768 x 100000 = 2,957 x 100 =
9, 818 x 1000000 = 9,429 x 1000000 =
2,322 x 100 = 5,373 x 100 =
2,254 x 10 = 9,937 x 1000 =

www.snowmath.com


https://www.snowmath.com

ty—s+t

Multiplique decimais por poténcias de dez

Nome:

3, 147 x 1000 = 3147

10, 821 x 1000 = 10821

1,514 x 100000 = 151400

3, 829 x 1000 = 3829

4, 842 x 1000000 = 4842000

2,1 x100000 = 210000

10, 768 x 100000 = 1076800

9, 818 x 1000000 = 9818000

2,322 x 100 = 232.2

2,254 x 10 =22.54

Encontro: Data: Pontuacao:

9,912 x 10000 = 99120

3,331 x 1000000 = 3331000

7,686 x 1000000 = 7686000

1,789 x 10 =17.89

1,417 x 100000 = 141700

4,966 x 1000000 = 4966000

2,957 x 100 = 295.7

9,429 x 1000000 = 9429000

5,373 x 100 = 537.3

9,937 x 1000 = 9937
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